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. 1. This Booklet contains 90 questions and 1 mark each for right answer.
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2. Before attempting the Question paper kindly check that this booklet

has total 16 pages and OMR Answer Sheet consists of three

copies. At the start of the examination and within first five
minutes, candidates are advised to ensure that all pages of
test booklet and OMR Answer Sheet are properly printed and test
booklet is not damaged in any manner. Serial No. and Series of
OMR Answer Sheet and Test Booklet match with each other. In
case of any discrepancy, the candidate should immedia tely report!
the matter to the invigilator for replacement of test booklet and
OMR Answer Sheet. No claim in this regard will be entertained
after five minutes of start of examination. -

3. Do not forget to write roll number on the top of this question

booklet and OMR Answer Sheet.

4. Do not tear or fold any page of the question booklet and OMR

Answer Sheet.

5. Candidate must bring legibly printed Admit Card with recent

coloured photo pasted on it at mark B duly atlested by Gazelted
Officer and one identity proof with photo like Driving License,
Voter Card, Aadhar Card, Passport etc. at the Examination
Centre failing which candidate will not be allowed to take the

examination..

6. Candidates are advised to make sure to fill the correct name,

Roll No. and test booklet code on the OMR Answer Sheel. If the
space for the Booklet Code is left blank or more than one booklet
code is indicated therein and non filling of name and Roll No.
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9. In case of any discrepancy between the English and Hindi
versions of ar¥y quest?on, the English version will be treated
as final/authentic.
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Haryana has % part in the total
geographical area of India.

(A) 276 (B) 1.34

(C) 325 (D) 2.58

Thesize of the registers, whichis sometimes
called the , indicates the amount
of data with which the computer can work
at any given time.

(A) Word size

(B) Random Access Memory (RAM) size
(C) Register word

(D) Auxiliary size

Which Section of Haryana Panchayati
Raj Act, 1994 deals with ‘Maintenance of
Secrecy of Voting' ?

(A) Section 180

(B) Section 181

(C) Section 184

(D) Section 183

In a row of girls, if Rathna who is 10™ from
left and Vanitha who is 9™ from the right
interchange their seats, then Rathna will
be 15" from the left. How many giris are
there in the row ?

(A) 23 (B) 32
(C) 16 (D) 25

Panchayati Raj System is based on the
principle of

(A) Centralisation of Power
(B) Democratic Centralism
(C) Decentralisation of Power

(D) None of these

Which of the following fractions is greater

3 5

¥ =5
than 2 and less than 5

2 8
A 3 B) 3
C 1 D —-9

(D)
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7. Which Constitutional Article defines

10.

11

12.

13.

14.

Disqualification for the Members of
Panchayat ?

(A) Article 243 G

(B) Article 243 |

(C) Article 243 F

(D) None of the above

When is the World Population Day observed ?
(A)  July 11 (B) August 11
(C) (D) April 11

Who is considered as the ‘Architect of
Panchayati Raj' ?

(A) Mahatma Gandhi

(B) Jawaharlal Nehru

June 11

(C) Balwantrai Mehta

(D) None of these

If 3*-¥ =27 and 3**Y = 243, then X is equal to
(A) 2 B) 4

(C) o (D) 6

In Haryana, is the Legislative
Assembly Constituency of Bhiwani district.
(A) Balramgarh (B) Kaithal

(C) Loharu (D) Ladwa

How many tiers are there in the Panchayat
Raj System of India ?

(A) Two tier (B) Three tier
(C) One tier (D) Four tier
A monitor’s is the number of

times per second that the electron guns
scan every pixel on the screen.

(A) resolution (B) view area

(C) speed (D) refresh rate

Name the district which is the ‘largest
producer of iron pipes’ in Haryana.

(A) Yamunanagar (B) Hisar

(C) Gurugram (D) Jind

10.

Tl

12.

13.

14.
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15.

16.

17.

18.

19.

20.

States of India where Panchayati Raj
System does not exist

(A) Meghalaya (B) Mizoram

(C) Nagaland (D) All of the above

What should come in the place of question
mark (?) ?

ABABCABCDABCD?
(A) C (B) E
(C) A (D) None

Who was the first Chief Justice of Punjab
and Haryana High Court ?

(A) Justice Gopal Das Khosla

(B) Justice Ram Lal

(C) Justice Eric Weston

(D) Justice Sudhi Ranjan Das

Identify the correct answer from Haryana
Panchayati Raj Act, 1994.

(A) Section 211 deals with Constitution
of State Election Commission
Section 213 deals with Constitution
of State Election Commission

Section 212 deals with Constitution
of State Election Commission

Section 214 deals with Constitution
of State Election Commission

(B)
©)

(D)

Which of the following is an example of
non-volatile memory ?

(A) Very Large Scale Integration (VLSI)
(B) Large Scale Integration (LSI)

(C) Read Only Memory (ROM)

(D) Random Access Memory (RAM)

Name the highest Sports Award given by
Haryana Government.

(A) Guru Vashisht Award

(B) Vikramaditya Award

(C) Bhim Award

(D) Eklavya Award

15.

16.

17.

18.

19.

20.
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21.

22,

23.

24.

25.

26.

National Panchayati Raj Day in 2010 was
inaugurated by

(A) Pranab Mukerjee
(B) Sonia Gandhi

(C) Narendra Modi
(D) Manmohan Singh

ABCD is related to OPQR in the same way
as WXYZ is related to

(A) EFGH (B) STUV

(C) QRST (D) KLMN

Which district of Haryana has the highest
literacy rate ?

(A) Bhiwani (B)
(C) Faridabad (D)

Panchkula
Gurgaon

Mahatma Gandhi started his famous
Dandi march on

(A) 6™ April 1930

(B) 12" March 1930

(C) 12" April 1930

(D) 6" March 1930

In Haryana, HLRDC means

(A) Haryana Limited of Reclamation
and Development Corporation

(B) Haryana Limited Research and
Development Corporation

(C) Haryana Land Reclamation and
Development Corporation

(D) Haryana Land Research and
Development Corporation

A student was asked to find the arithmetic
mean of the numbers 3, 11,7, 9, 15,13, 8,
19, 17, 21, 14 and x. He found the mean
to be 12. What should be the number in

place of x 7
(A) 7 (B 17
(c) 8 (D) 3

-4 I8

22.

23.

24.

25.

26.

-(C) wiEETs
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(A) EFGH (B) STUV

(C) QRST (D) KLMN

whamon # we@ stfoes anewan aren e
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(A) 6 T8 1930

.(B) 129 1930

(C) 12 3T 1930
(D) 69 1930

e 1 v, e, A S, 5 Hae §

(A) e fafits =1 iy ws
TIAYGHE FHARIA

(B) wfamn fafite fios ws saae
FIRIH

(C) =i Ave Wy we qTTHe
HRAEH

«(D) &REmn Ave fwe we Saawde
FHIIIH

uw foenefi 1 3, 11, 7, 9, 15, 13, 8, 19, 17,
21, 14 3T x =1 FHFO T1eg feen &
o =het Trm | 3@ e 12 e ga |

X T R T G =R ?
(A) 7 -(B) 17
€ 3 (D) 31
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27. Which country is not situated in the Homn

28.

29.

30.

31.

32.

33.

of Africa ?
(A) Eritrea (B) Somalia
(C) Libya (D) Ethiopia

Complete the series.

7,26, 63, 124, 215, 342, ?
(A) 511 (B) 391
(C) 481 (D) 421

A man has a certain number of small boxes
to pack into parcels. If he packs 3,4, 50r6 in
a parcel he is left with one box; if he packs
7 in a parcel, none is left over. What is the
number of boxes, he may have to pack ?
(A) 301 (B) 309

(C) 106 (D) 400

In which year, the Sultanpur National Park
of Haryana was upgraded to the status of
National Park ?
(A) 1991

(C) 1994

The difference between a number and its
three fifth is 50. What is the number ?

(A) 100 (B) 125
(C) 75 (D) None of these

1992
1995

B)
(D)

January 1, 2004 was a Thursday. What
day of the week lies on Jan. 1, 2005 ?

(A) Friday

(B) Saturday

(C) Thursday

(D) Sunday

Tiriya ke Masmoom is written by
(A) Altaf Hussain Haali

(B) Amir Khusro

(C) Allabaksh

(D) Umrao Jan

27.

28.

29.

301

31.

32.

33.
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34.

35.

36.

37.

38.

39.

40.

Who was the first Chief Minister of Haryana ?
(A) Bhajan Lal

(B) Bhagwat Dayal Sharma
(C) Rao Virender Singh
(D) BansiLal

When was the President's Rule imposed
in Haryana for first time ?

(A) 20" March, 1965

(B) 21% November, 1967

(C) 12" December, 1970

(D) 10" April, 1969

If ROSE is coded as 6821, CHAIR is coded
as 73456 and PREACH is coded as 961473,
what will be the code for SEARCH ?

(A) 214673 (B) 276413
(C) 246173 (D) 214763

Which ofthe following systemis established
on the basis of the direct election ?

(A) Gram Panchayat

(B) Block Committee

(C) Zila Parishad
(D) Both (B) and (C)
1095 \vhen expressed in simplest form is
1168
15 17
A 2 B
13 25

The International Horticulture Market‘in
Haryana was planned to be established in
(A) Sirsa (B) Jind

(C) Sonipat (D) Karnal

Which British Governor fought against
the Nawab of Bengal during the Battle of

Plassey ?

(A) Lord Dalhousie
(B) Warren Hastings
(C) Robert Clive
(D) Lord Cornwallis

34.

35.

36.

37.

38.

39.

40.

-(B)

*(B)
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41.

42.

43.

44.

45.

46.

47.

Thevotingageinindiais reducedto 18 years
~ through this Constitutional Amendment Act

(A) 86" (B) 93
(C) 61 (D) 89"

4 men can weave 4 mats in 4 days. At
the same rate, how many mats would be
woven by 8 men in 8 days ?

(A) 8 (B) 12
(C) 4 (D) 16

Shivam walks 10 km towards North. From
there he walks 6 km towards South. Then
he walks 3 km towards East. How far and
in which direction is he with reference to
his starting point ?

(A) 3 km in South-East Direction

(B) 5 km in North-West Direction

(C) 5 km in North-East Direction

(D) * 3 km in South-West Direction

Font size is measured in points; a point is

____ ofaninch.
(A) 1/70 (B) 1/52
(C) 1/32 (D) 1/72

Haryana is called as the
(A) Land of temples

(B) Land of flowers

(C) Pious State

(D) Breadbasket of India

The Viceroy who has been called as
‘Father of Local Self-Government’ in India
(A) Lord Canning (B) Lord Curzon
(C) LordLytton (D) Lord Ripon

In Haryana, Deru is

(A) Akind of refreshing drink famously
consumed in Haryana

(B) An instrument made of wooden shell

(C) A festival celebrated to welcome the
spring season

(D) None of the above

41.

42,

43.

45.

46.

47.
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49.

50.

51.

What is a frost ?
(A) A cloud with its base at or very near
to the ground
(B) Forms on cold surfaces when
condensation takes place below
freezing point
(C) The moisture that is deposited in
the form of water droplets on cooler
surfaces of solid objects
(D) A mass of minute water droplets or
tiny crystals of ice formed by the
condensation of water vapour
According to Article 51 of the Indian
Constitution the State shall endeavour to
a. promote international peace and
security
b. maintain just and honourable relations
between nations
c. encouragement of internal disputes
by arbitration
d. respecting international law
e. helping other countries to solve its
internal problems
(A) a,b,daretrue
(B) b,c,earetrue
(C) a,b,earetrue
(D) a,b,c,earetrue
The battle of Karnal was fought between
(A) Nadir Shah and Shah Alam
(B) Nadir Shah and Mohammad Shah
(C) Nadir Shah and Aurangzeb
(D) Shah Alam and Mohammad Shah
Which of the following is not a Central
Asian Country ?
(A) Uzbekistan
(B) Azerbaijan
(C) Turkmenistan
(D) Tajikistan

48.

49.

50.

51.
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52. A

53.

54.

55.

56.

57.

converts all the source
code “into machine code, creating an
executable file.

(A) Interpreter
(B) Assembler
(C) Compiler
(D) Loader

Which authority developed the Industrial
Model Township at Manesar ?

(A) Haryana State Investment Promotion
Board

(B) Haryana State Industrial Development
Corporation

(C) Haryana State Urban Development
Authority

(D)

Government of India

SCSI Stands for

(A) Small Computer Storage Interface
(B) Small Computer Standard Interface
(C) Small Computer Software Interface
(D) Small Computer System Interface

During 1789 — 1794, Delhi and Haryana
were ruled by

(A) Madhavrao Scindia
(B) Raijaji Scindia

(C) Mahadji Scindia
(D) Raja Umed Singh

Iso-electronic ions among the following
(A) N*, S, Br- (B) N* O~ F
(C). §*,N*,CI- (D) N*, O, Ca?

Name the fort built by Raja Gajpat Singh in
1775.

(A) Jind Fort (B) Loharu Fort

(C) Gohana Fort (D) Kaithal Fort
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52.

53.

54.

55.

56.

57.
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T wft Eird gl 1 T o H e
T ¥ 37N Uk Fvarei wEe SHIT @ |

(A) TR

(B) THeeR

(C) HUTTR

(D) W=t

Tora wftretor gro AeeR § fenfies "@ied
TR fawmfa R 2 ?

(A) B Tsg fEw Em e

'+ (B) wftamon Ty Sfefies e Frm

(C) efemon T wied fershra sferertor
(D) A HHR

. H.ug. 37, (SCSI) # frga s R

(A) TS FPEt RS 3

(B) Wic FYH Fee SThE

(C) It HIeT HTFIAT §eTHY

(D) e Foge Rrew Seiha

1789 = 1794 % < feeelt o7t =iz w
=T I o |

(A) weee faftmr

(B) TSt Ffem

(C) weresh faftrn

(D) T 3uE g

frefefad § & ww-seegie o
(A) N §=,Br (B) N-, O F
(C) §* N+ CF D) N* 0% Ca*

T o T E 1775 8 ST T R

T SaTsT |
(A) e feret
(C) e fehet

(B) wews fhan
(D) U farem



58.

59.

60.

61.

62.

63.

Choose the odd word,
(A) Ginger
(c) Carrot

(B) Tomato

(D) Potato

Name the first Speaker of the Legislative
Assembly of Haryana,

(A) Swaroop Singh

(B) Rao Virender Singh

(C) Ran Singh
(D) Shanno Devi

Which of the following Committee
recommended for Panchayati Raj System
in India ?

(A) Singhvi Committee

(B) Punchhi Samiti

(C) Balwantrai Mehta Committee

(D) None of the above

A boy completes a semicircle of radius 7 m
in 5 seconds. The distance travelled by

the boy is
(A) 10m (B) 11m
(C) 7m (D) 22m

The Kalesar Wildlife Sanctuary is located
in which district of Haryana ?

(A) Nuh

(B) Gurugram

(C) Faridabad

(D) Yamunanagar

Which Section of the Haryana Pan.chayati
Raj Act, 1994 deals with the Appointment
of Chief Executive Officer and other Staff

of Zila Parishad ?
(A) Section 131
(B) Section 133
(C) Section 132
(D) Section 134

58.

59.

60.

61.

62.

63.
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ferem w1e2 g |
"(A) ATH (B) <HIAX

(C) TSI (D) AT

o < e @ & ve el w3 7
(A) ey i

-(B) Ta itz far

() wfam

(D) =t &t

Freaferfaa o @ feg afifa 3 v & demad
TSI JUTTet eht ST <ht off 7

-(A) o wfufa

(B) gt afufa

(C) wordaUd HedT Afufd

(D) Suge H A IS T

U ST 7 m B3 & U SYedgw i 5 He
ot e 3 | TS g o T
(A) 10m (B) 11m

© 7m (D) 22m

B & fore e o et S=eltg ey
femg?

(A) &

(B) eI

(C) IR

(D) IGTTR

e TR s tfufem, 1994 H wR-
YN & ShiuTerh ST 3R fre aftws
=1 = i Fryfa dwEfa  ?

(A) T 131

(B) W 133

(C) «mr132

(D) ©T 134



64. Which two Indian Presidents died while in

Office ?
i. Zakir Hussain
ii. Rajendra Prasad
ji. Fakhruddin Ali Ahmed
iv. A.P.J.Abdul Kalam
(A) iandiii (B)
(C) iandiv (D)

iiand iv
iii and iv

65. Name the cricket personality from Haryana

66.

67.

68.

69.

(A) Rule

under whose captaincy India won the first
Cricket World Cup in 1983.

(A) Mahendra Singh Dhoni
(B) Kapil Dev
(C) Joginder Sharma

~ (D) Ajay Jadeja

Identify the correctanswer from the following
in Haryana Panchayati Raj Act, 1994.
Chapter XX deals with ‘Supervision
of Zila Parishad’

Chapter XX deals with ‘Property,
Finance and Taxation’

Chapter XX deals with ‘Provisions
Relating to Elections’

Chapter XX deals with ‘Duties and

Functions of Zila Parishad’

If Rs. 782 be divided into three parts,
proportional to %% : g, then the first part is
3 4

(A) Rs. 190 (B) Rs. 196
(C) Rs. 182 (D) Rs. 204
The dimensional formula of impulse is
(A) [MLT? (B) [MLT]
(C) [MLT] (D) [ML2T)

In Panchayati Raj System, what does the
word ‘Raj’ means ?

Review

None of these

(B)

(C) Role (D)

64.

65.

66.

67.

68.

69.
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©) i3Miv (D) i A v,
whemon % 39 frshe Sfdded 1AM S,
Sy et 7 s 3 1983 # wem T
ferga o Sffar & 7
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uﬁmﬂ.ﬁ 1.2. 3 3 srguma § o s

2 3 4
T dfeT ST a1 WAH W 8
(A) 190 . (B) 1967%.
(C) 1827, (D) 204%.
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*(C) [MLTT] (D) [ML2T]
et Tt Yomet) o CUST YTeE o Hao a1 § ¢
. (A) ® 8) f=g
(C) T (D) ¥ A HE Tl




70. Todarmal introduced land revenue during

71.

T2,

73.

74.

75.

76.

the regime of which Mughal Emperor ?
(A) Aurangzeb (B) Akbar

(C) Humayun (D) Shah Jahan
Name the district of Haryana which is the

birth place of famous Hindustani classical
musician Pandit Jasraj.

(A) Ambala (B)
(C) Faridabad (D)

On whose prior approval is the Money Bill
introduced in the Haryana State Legislature ?

(A) President (B) Governor
(C) Chief Minister (D) Chairman

Hisar
Bhiwani

The Law of Heredity was propounded by
(A) Thomas Edison

(B) Marie Curie

(C) Charles Darwin

(D) Gregor Mendel

Who was the designer of ‘Yadavindra
Garden’ situated in Pinjore of Haryana ?
(A) Raja Yadavindra Singh |

(B) Nawab Fidai Khan

(C) Aurangzeb

(D) Maharaja Tara Chand

Freshly formed silver chloride precipitate
can be converted into colloidal solution by
the addition of suitable electrolyte. This is
called

(A) Electrical dispersion

(B) Peptization

(C) Condensation

(D) Dispersion method

Where is the hub of making Durries in

Haryana ?
(A) Sirsa (B) Jhajjar
(C) Pinjore (D) Panipat

9/2019 (1) (M2)

70. amaﬁ%agnam%waﬁm

Té.

73.

74.

syroed ol YT A 7
(A TS (B) FHHR
(C) g (D) mESiE!

71. whemn % q Rt %1 AW FaEg, S RS
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(A) 3T (B) T&ER
(C) WwieETe (D) foarht
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(A) Tregufa “(B) TSI
(C) HewH (D) AT
AR =1 fam Fr gfanfed
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- (A) %@m
(B)

(C) =Ted eI
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(B) wamE CLE

(C)

75.

76.
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. (B) U

(C) * "

(D) wehiq farftr

g § g6 S e =1 s Rl 7

(A) T (B) S

(C) TR (D) 9rHua



Directions (Questions 77-79) : Fill in the blanks
with appropriate words :

77.

78.

79.

80.

81.

82.

English Language

Make r}ay the sun shines.
(A) wle: (B) wile
-(C) while (D) wall

.Diseases are

isee through contact
with infected animals.

(A) transported (B) transacted

«(C) transmitted (D) transplanted
His bad driving almost an accident.
-(A) caused (B) resulted

(C) created (D) made

Pick out the one which can substitute
the underlined group of words correctly,
without changing the meaning of the
sentence.

If you have power or money you misuse
and if you don’t have it you yearn for it.

(A) you misuse it and if you don't

*(B) you misuse so that you don't

(C) you misuse it when you don't
(D) you misuse and if you can't

Fill in the blank in the following sentence
with the correct form of the word given in
the bracket.

They (frequent) quarrel over
petty issues.

(A) frequence (B) frequently

(C) frequent (D) frequency

Choose the word or group of words that best
expresses the meaning of the capitalised
word given below.

MASQUERADE

* (A) To go in disguise

(B) To mesmerise
(C) To provide support
(D) To runina marathon race

83.

84.

85.

86.

87.

88.

89.

90.
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10. Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, wear or_nament_s like ring, chain,
earring etc. electronic or communication device, Pen, Pencil,
Eraser, Sharpener and Correcting Fluid in the examination centre. If
any candidate is found possessing any such item, he/she will not
be allowed to enter in the examination centre. Candidate found
possessing mobile phone or any nlher aiding material as mentioned
above in the examination room will be treated a serious violation
and it will amount to cancellation of the candidature and debarring
him/her from future examination.
. The written examination will be supervised by doing frisking before
allowing entry into Examination Centre, using CCTV Cameras,
Biomelric Attendance process by capturing the Biometric thumb
impression and photograph of the candidates during Examination.
Videographég Jammers and QR Code Scanning Process on admit
card by QR Code Scanning team etc. shall be used in the Examination
Hall/Examination Centre 1o stop copying and impersanation etc,

. Candidate's request o change the examination centre and seat
in the Examination Hall shall not be entertained.

. The scanned photograph of the candidate ‘on his/her Admit Card or

attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator, In the event of any discrepancy in
the Identification and verification of the candidate and photographs
the candidate shall not be allowed o sit in the examination and be
liable for criminal prosecution.

. The OMR answer sheet consists of three copies, the original copy,
the commission copy and the candidate’s copy. Do not separate or
displace them. Do not darken the bubbles in three copies of OMR
Answer sheets separately. Candidate must handover the OMR
Answer sheet without separating the three copies to the invigilator
at the end of examination. Invigilator will hand over the candidale's
copy after separating it. The candidates are aliowed to take away this
Test Booklet with them.

15. Each question has four altemative answer of which only one Is
correct. For each question, darken only one circle, which ever
you think is the correct answer on the OMR answer sheet with
only Blue/Black Ball Pen provided by the Commission. Pencil
should not be used for darkening the circle. If more than one circle
is found darkened, that answer will not be evaluated.

16. No candidate shall be allowed fo go to the toilet/washroom
during first and last thirty minutes of the examination. No
candidates shall be allowed 1o leave the examination centre before
completion of the examination. :

17. No candidate will be allowed to leave the OMR Answer sheet blank.
If any OMR Answer sheet is found blank, it shall be crossed by the
invigilator with his/her signature and mentioning “Cancelled” on it

8. The answer sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the answer
sheet invalid.

9. All the necessary particular on the answer sheet should be filled
carefully, Change of answer sheet is not permitted.

0. While darkening the appropriate bubble(s) in the boxes darken the
chosen bubble(s) fully as given below. If you darken more than

o
<
3

-
-
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ofi | 32w arem A W | OMR ITR- i W1 Wl 3 et &
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way e eve I 376 G 306 2 B ST | el STo T g e
g A A mER € |

15. el we % OR defers sm R € Red & Fee @ vl R | T
T 390 T OMR S- H el 36 T 1e i 97 § W03 8
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one circle, your answer will be treated as wrong and such answer -
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i’
CORRECT METHOD/@# wlisT WRONG METHODS/ TTeTa ailieh k‘-

@00 ORCO O®00 B0 k

21. If acandidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall
take action as per instructions and in addition can also debar the
candidate from appearing in the Examination, to be held in future
and can also file criminal proceedings.
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